1.

Diyalogu tamamlayan se¢enegi igaretleyi-
niz.

| don't like
the carousel.

| think it's amazing.

A) | agree with you.

B) | think so.

C) | disagree with you.
D) | don't like it.

Bogluga uygun olan secenegi igaretleyi-
niz.

| hate bumper cars because they are

A) great B) funny
C) amazing D) boring

Bosluga uygun olan secenegi isaretleyi-
niz?

Mount Everest is than Mount Agri.

A) shorter B) higher
C) faster D) happier



4. Resme gore dogru olan segenegi isaretle-
yiniz.

A) Tom is smaller than Jerry.
B) Jerry is bigger than Tom.
C) Jerry is heavier than Tom.
D) Tom is more stupid than Jerry.

5., 6., 7., 8. ve 9. sorulan asagidaki tabloya
gore cevaplayiniz.

Berra Melisa Yagdiz Semih
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9.

Who doesn'’t like the swing ride?

A) Berra B) Melisa
C) Yagiz D) Semih

Who likes ghost train?

A) Berra B) Melisa
C) Yagiz D) Semih

Who likes carousel?

A) Berra B) Melisa
C) Yagiz D) Semih

Which one is true?

A) Semih likes bumper cars.
B) Melisa likes ghost train.
C) Melisa likes swing ride.
D) Yagiz likes carousel.

Which one is wrong?

A) Berra likes bumper cars but Ya§iz
doesn't like them.

B) Melisa and Semih don't like ghost train.
C) Yagiz likes swing ride but Melisa doesn't
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D) Berra and Melisa don't like carousel.

0. Asagidaki alti ¢izili sdzcugiin yerine sege-

neklerden hangisi getirilemez?

( From my point of view, English is |
the best school subject.

A) | think B) I'm sorry
C) Tome D) In my opinion

I1. Asagidaki cumlielerden hangisi anlam ba-

kimindan dogrudur?

A) A cat is faster than a turtle.

B) An elephant is as heavy as a bird.
C) A cheetah is slower than a rabbit.
D) An ant is lazier than a grasshooper.

Bosluga uygun olan se¢cenegi isaretleyi-
niz?

| like fairs very much. Going to fairs makes
me

A) sad B) happy
C) bored D) unhappy



Cevaplar :
1)C, 2D, 3)B, 4)D, 5B, 6)C, 7)B, 8)A, 9D, 10)B, 11)A, 12)B,



